“ RIVAL

POWERSPORTS

m UNIVERSAL SNOW BLADE INSTALLATION MANUAL

RIVAL UNIVERSAL SNOW BLADE
YHUBEPCAJ1bHbIN CHETOOTBAJ1 RIVAL

444.0164.1.B - black/4épHbin
444.0164.1.S - gray/cepbii

WWW.RIVAL4X4.COM WWW.RIVALPOWERSPORTS.RU



EN
DE
RU

EN
DE
RU

EN
DE
RU

EN
DE
RU

EN
DE
RU

EN
DE
RU

EN
DE
RU

“ RIVAL

POWERSPORTS

Regular fasteners
Normale Befestigung
LUTaTHLIA Kpenéx

Regular fasteners
Normale Befestigung
LUTaTHbLIA Kpenéx

Screw a several turns
Mit wenigen Umdrehungen befestigen
BKpyTUTb Ha HECKOJZIbKO 060pOTOB

Loosen bolts
Bolzen lockern
BbIKpyTUTb HAa HECKOJIbKO 060pOTOB

Movement Arrow
Bewegungsrichtung
ABxeHue

Location / Position Arrow
Anordnung / Positionsrichtung
Pacnono)xeHue

Screw Arrow
Drehrichtung
MoBopoT



“ RIVAL

POWERSPORTS

Pama / Frame
444.0096.01

EN Ratchet S-7, S-17;
DE Ratsche S-10; S-36
RU Tpelétka S-13;

v

EN Slotted Screwdriwer
DE Schlitzschraubendreher
RU OtBépTKa Wnnlesas




“ RIVAL

POWERSPORTS

.‘é‘f&

M8=24 Nm




“ RIVAL

POWERSPORTS

~N
\ \
-\
el
iz W..
w={
3 ¢
N
=1
N | b \
SN ,
O B \\
ol
u.////va =

2.9 Nm

.‘é‘f&

M4




POWERSPORTS

.‘é‘f&

M4=2.9 Nm

Ve

.V// N

*Q/ //
\~/ ‘/!él)/

\\I\ 7/\ ;\

ﬂ“'




“ RIVAL

POWERSPORTS

Kosw / Bucket

444.0163.01 - 150 mm.
444.0163.02 - 137 mm.

EN Ratchet S-13; HEX 5.6
DE Ratsche S-17; S- 8’
RU Tpelétka S-19

x1 ) x1 )
M
x1 X2
TH EFe FERHED
M8x20 x1 | M8x20 x4 | M10x20 x2 | M10x30 x9 [ M12x40 X2
16 17] 18] 19 20 ,
@ @)
210 x11 |z12 x4 | M8 x5 M10 x11 | M12 X2
22 23
x2 x4




“ RIVAL

POWERSPORTS




“ RIVAL

POWERSPORTS

2

a " - 23

| — 41/ 22

v =
/\
21—
=
5 n -
D + [ |
LEFT = RIGHT

=

14:17

LEFT = RIGHT




“ RIVAL

POWERSPORTS

LEFT = RIGHT

M8
=47 Nm

.‘é’f&

M10

.‘é’f&
=24 Nm

M12

LEFT = RIGHT

7 / "‘&
I/ /) “o%
\ =84 Nm




“ RIVAL

POWERSPORTS

YHuBepcanbHoe kpensieHne cHeroorsana / Universal snow blade mounting pad

444.0102.1

EN Ratchet
DE Ratsche
RU Tpeluétka

@ s-13




“ RIVAL
POWERSPORTS

CFMOTO
CFORCE 600 (2020-)

oy NI T

\

1~ "o




CFMOTO
CFORCE 450/520 (2022-)

POWERSPORTS

“ RIVAL

S
e
CFMOTO
CFORCE 800/820

2\

0 00

> /o

/

/

/
1>

/2

4/1

Q
o
L
Q
:

S




“ RIVAL
POWERSPORTS

CFMOTO
CFORCE 550 (2022-)

CFMOTO
CFORCE 850/1000/X10 (2019-)

\J

..W_ || M .\l_ (<)) N
.”.u ¢\ / B ¢.\ /
DY N p—




“ RIVAL

POWERSPORTS

Honda
TRX 420/500

|

TN

§




“ RIVAL

POWERSPORTS

Kawasaki

L KVF 750
=

O
O
\/I] O ﬂE
o ViBRLE
Q)
O
- c_———
@
2 0
Je— /][ 2
L e

9:10

Kymco MXU 700

-

1]
s
7—’%

N 5:89 ¢




POWERSPORTS

| | e } SRS Polaris

/ Sportsman 850

B

o O [e} o ° °
o . @)
O
Polaris
5 Scrambler 1000
2 o !
db% iy, 1 /
s oiSiive \
9;10 \ & g (//\O o)) /
I et
=g L X i/ © 00 0 O
[/ ©0O g\ o
B ||

C I 3 | ]
ﬂ O
——

( ] ( ] ) ]I ]




POWERSPORTS

/:V

Yamaha
Grizzly 350/450

/OO 00

O%L %%\\ \bo—,'
O %f\

s 0 AN
S
~ O O
AN\
O U
@)

J ¢ )

)

©

\

___@__

)
|

Yamaha
Grizzly 550/700
Kodiak 700

COO0OOOOOO0O0

000000 0000

[

1




“ RIVAL

POWERSPORTS
%g R 6: i Hisun Tactic 750
2 (N —| | i\
Py iy, — 1 /\ﬁ

o N
i 9:10 2 Tooo0oo 225
TS o _ﬁ/
&, o

— — @
| W ; :
WITH RIVAL SKID PLATE A\ o N
u ©
COBMECTHO C 3ALLIUTON RIVAL == A=A\




“ RIVAL

POWERSPORTS
o ] | Hisun Tactic 1000
l I — | 2 ©
I - O O i
& e | 1 g 2

__@___
_______@_

— Stels
Guepard 650/800/850

9:10

8-
8 -
.\

Y
(]

)
'

Tjﬂué

//H\\‘;(\

e
(N0

. (/

SN

$5,

2N

r HU&I

N

Y
J\qoo/\ /L
\

]

S
i
v
o
(S
(o (S
o
L[ NeD =
UO\S
?7/9%




“ RIVAL

POWERSPORTS

Stels
Leopard 600/650

Z
O
- P




“ RIVAL

POWERSPORTS

CFMOTO
CFORCE 800/1000 (2024-)

Can-am
Outlander XT 700

Vo




“ RIVAL

POWERSPORTS

Q Hisun Tactic 1000 (2024-)




